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� 
����
 6
����� ��� 0�� 

 ��� 
�6�=���� 
�= ����� 
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� ����
	� � �
������ �� 6�0�	���
���� � �7��
����
&
��� H2O� 	� �����	F��� CO2, +����	&�� �� ��� �	��� ��
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�� 	� 6�=�����
, < ��

� 0�	'��
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Lmin =
cred · 1, 86 + s · 0, 70 + h · 5, 55 − o · 0, 7

0, 21
[m3

n/kg] , 9�,�:

 &	�
cred �� ��� ���������� �=���� ����
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Lmin =
.50 · 1, 86 + 0 · 0, 70 + 0, 067 · 5, 55 − 0, 359 · 0, 7

0, 21
Lmin = 5, 00 m3/kg . 9�,�:
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& ������ �� �
 �
&
 ���
B	5 	� 6�
�������

� ����
	� 	� ��
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Milt = 0, 21 · Mluft · KV →M , 9�,�:
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1, 429
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Wud(t) = Wrg(t) + Wfrem(t) , 9�,.:
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� ���
���
 �
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Wtp(t) = htp · mtp(t) 9�,*:

Wluft(t) = mluft(t) · cluft · Tomg(t) 9�,�:

Wretur(t) = mvand(t) · cvand · Tretur(t) 9�,/:

Wrg(t) = (mluft(t) + 0.85 · mtp(t)) · crg · Trg(t) 9�,):

Wfrem(t) = mvand(t) · cvand · Tfrem(t) . 9�,��:
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Muldvarp

mtp(t) Mtp(t) f (Mtp(t),mluft(t))
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 ����&
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f (mluft(t),Mtp(t)) ≈ Kflow · mluft(t) + Kstr · Mtp(t) , 9�,��:
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d

dt
Mtp(t) = Km · mtp(t) − Kflow · mluft(t) − Kstr · Mtp(t) , 9�,��:
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d

dt
Efyrrum(t) = Wtp(t) + Wluft − Wrg(t) − Wf→v(t) , 9�,�C:

 &	�
Efyrrum(t) �� �������� � ��������


Wtp(t) �� �J��
�� 
���7�
 ��������
 &�� 
�6�=����� 
� 
�=0�������

Wluft(t) �� �J��
�� 
���7�
 ��������
 ��� ���
�� ��� 6�=��� ���

Wrg(t) �� �J��
�� �'����
 ��
 ��������
 ��� �7��
����

Wf→v(t) �� �J��
�� 	&���7�
 ��
 ��������
 
�� &
���
 � ������,

�*



�,�, +��
���� �	��� 
� �
	������ �����	& ��.

Stokerfyret set fra siden
Front

Kontrolvolumen for forreste 
del af fyrrummet

Kontrolvolumen for midterste 
del af fyrrummet

Kontrolvolumen for bagerste 
del af fyrrummet

Kontrolvolumen for vand i 
kedlenIsolering

Tff

Eff

Tfm

Efm

Trg

Efb

������������

����� 	��� ���������	�� �
 
��������� ��
��	�� 	 ��� ����������������' ���� ������
�� �����	�� �� ������������

�� 
� ������� ���������������� ���������

4�������
 	0����� � 
�� �	�
�	�&	��������  &����
 �� �����
����
 0� 4���� �,.,

"�� 	0�������� � 
�� �	�
�	�&	������� �	���� Wf→v(t) � 4	���� �,�C 
�� 

 �=��� 	&�� 
�� ���,
-� 4���� �,* ��� �����
����
 �J��
���� ������ �� 
�� �	�
�	�&	������� 	� �J��
����� ��� 	&���7���
��
 �� 
�� �	�
�	�&	������� 
�� ������,

Isolering

Isolering

Wtp(t) Wluft(t)

Eff (t)

Efm(t)

Efb(t)

Wrg(t)

Wrgfm(t)

Wrgff(t)

Wff→v(t)

Wfm→v(t)

Wfb→v(t)

Wretur(t)

Wfrem(t)

����� 	��� ��
�� �
 
�������� ��
 ��
��	�� 	 ��� ����������������' ���� �2������� ������ 
� ������� ���������
�� ��������

8� ��
 4���� �,* �� ��
 �� �����
 

 	0�
���� �� 
�� ��J����
�
����������� ��� 6�����&�� �������� �
��������
� 
�� �	�
�	�&	��������  &	� ��� ��� 6	�
 ��
 

6 
�� 	���&�������, 4	� 

 ������� �J��!

���� ��
 �	�
�	�&	��������� 
�� ������ ��
� ��� 6����� �
 &
���	&���
���

�� ��� � ����� �
00	�

6��=&��� α, +�
 �� ��0����� �����
� 

 ��� �� �� �
���� =���� ������ &
���	&���
���

���

	� �
���B	5�
�  &	��	� &
���	&���
���

���
 ������ �	�

α(t) = Kα · mrg(t)0,8 , 9�,�.:
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mrg(t) = mluft(t) + 0, 85 · mtp(t) . 9�,�*:
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d

dt
Eff (t) = Wtp(t) + Wluft(t) − Wrgff (t) − Wff→v(t) ⇒ 9�,��:

Mrgff · crg · d

dt
Tff (t) = htp · (Kflow · mluft(t) + Kstr · Mtp(t))

+htp · (1 − Km) · mtp(t)
+cluft · Tomg · mluft(t)
−crg · mrg(t) · Tff (t)
−Aff · αff (t) · (Tff (t) − Tfrem(t)) 9�,�/:
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− 1
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· αff (t) (Tff (t) − Tfrem(t)) , 9�,�):
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d

dt
Efm(t) = Wrgff (t) − Wrgfm(t) − Wfm→v(t) ⇒ 9�,��:

Mrgfm · crg · d

dt
Tfm(t) = crg · mrg(t) · Tff (t)

−crg · mrg(t) · Tfm(t)
−Afm · αfm(t) · (Tfm(t) − Tfrem(t)) 9�,��:

�
d

dt
Tfm(t) =

1
Mrgfm

· mrg(t) · Tff (t)

− 1
Mrgfm

· mrg(t) · Tfm(t)

− Afm

Mrgfm · crg
· αfm(t) (Tfm(t) − Tfrem(t)) , 9�,��:
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d

dt
Efb(t) = Wrgfm(t) − Wrg(t) − Wfb→v(t) ⇒ 9�,��:

Mrgfb · crg · d

dt
Trg(t) = crg · mrg(t) · Tfm(t)

−crg · mrg(t) · Trg(t)
−Afb · αfb(t) · (Trg(t) − Tfrem(t)) 9�,�C:

�
d

dt
Trg(t) =

1
Mrgfb

· mrg(t) · Tfm

− 1
Mrgfb

· mrg(t) · Trg(t)

− Afb

Mrgfb · crg
· αfb(t) · (Trg(t) − Tfrem(t)) , 9�,�.:
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d

dt
Ekedel(t) = Wretur(t) + Wff→v(t) + Wfm→v(t) + Wfb→v(t) − Wfrem(t) . 9�,�*:
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Mvand · cvand · d

dt
Tfrem(t) = mvand · cvand · Tretur(t)

+Aff · αff (t) · (Tff (t) − Tfrem(t))
+Afm · αfm(t) · (Tfm(t) − Tfrem(t))
+Afb · αfb(t) · (Trg(t) − Tfrem(t))
−mvand · cvand · Tfrem(t) 9�,��:
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d

dt
Tfrem(t) =
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Mvand
Tretur(t)

+
Aff

Mvand · cvand
· αff (t) (Tff (t) − Tfrem(t))

+
Afm

Mvand · cvand
· αfm(t) (Tfm(t) − Tfrem(t))

+
Afb

Mvand · cvand
· αfb(t) (Trg(t) − Tfrem(t))

−mvand

Mvand
· Tfrem(t) , 9�,�/:
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Fyrrum

0, 21 · KV →M · mluft(t) Milt(t)

Kprop · (1 − Km) · mtp(t)

Kprop · f (mluft(t), Mtp(t))

mrg(t) · λrg(t)
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�� ������ �
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"
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d

dt
Milt(t) = 0, 21 · KV →M · mluft(t) − Kprop · (1 − Km) · mtp(t)

−Kprop · Kflow · mluft(t) − Kprop · Kstr · Mtp(t)
−mluft(t) · λrg(t) . 9�,�):
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Mrgf
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d

dt
λrg(t) =

0, 21 · KV →M

Mrgf
· mluft(t) − Kprop · (1 − Km)

Mrgf
· mtp(t)

−Kprop · Kflow

Mrgf
· mluft(t) − Kprop · Kstr

Mrgf
· Mtp(t)

− 1
Mrgf

· mrg(t) · λrg(t) , 9�,��:
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d

dt
Efm(t) = Wrgff (t) − Wrgfm(t) − Wfm→v(t) ⇒ 9�,��:

Mrgfm · crg · d

dt
Tfm(t) = crg · mrg(t) · Tff (t)

−crg · mrg(t) · Tfm(t)
−Afm · αfm(t) · (Tfm(t) − Tfrem(t)) , 9�,��:
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�
���� �	� ��� ���
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, 47��
�

��� � ��0�����
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d

dt
Tfm(t) = (Wrgff (t) − Wrgfm(t) − Wfm→v(t)) · 1

Mrgfm · crg
, 9�,��:
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s
1

Mrgfm·crg

d
dt

Tfm(t) Tfm(t)

Wrgff (t)

Wrgfm(t)

Wfm→v(t)
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Wrgfm = crg · mrg(t) · Tfm(t) , 9�,�C:
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1
Mrgfm ·crg

d
dt

Tfm(t) Tfm(t)

Wrgff (t)

Wrgfm(t)

Wfm→v(t)

mrg(t)
crg
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�� � �7��
�
��0��

����
��
�� �
�0 � 6�=������ �������  &	� ��� � �������� ��� �� 
������ 
��0��

���
������, #�&�������
� �7��
�
��0��

�� 
���� 	��� �	� �
 ������ ���� � �	� 	�� 
�� ��� �
������� ���
��� � ��
��!
&�
��
� �
 �7��
�
��0��

���� ���� �������6
�
 
�&����� � ������������, ������������	������

�&����� ����	� 
�� ������ 
� �� �����

	�� �
 ��� &���� �� ���
��� 
�������� �	� ��
��&�
��
 	�
�����76�
��0��

����,

+�
 �� ��
�� &���;�������� �	��


���
� 

 ��� 
������ 
� �
	�������
� ��� ������ 
�� ����� �	�
����������� 
� 
��
��� 	� &	������� � ��������
� ���� �� �	� ��
 �	����
� ���, +������	�����
�	� �
 �����	& ��. �� �
7��� ��� ��� 0� 
��������� �� ��
 
�

���� 

 
�������� �=���� �	�
�
 �����	& ��. �
	������, #
 �������	����� �� �
7��� 6�
����� 

 ��� �	�&��
�� �
 �
���	�����

�.



� "	���������

���0	�� 0� =�������� 
� 
��0��

���� � �7��
����� �
 ��� �� �
7��� �
���� ��� ��
� 	0&
�����
�
�
����
 ��� 

 ��� 6��&�� �
7��� 
��
� 
�� 

 	&���7�� �J��
�� ��
 �7��
� 
�� &
���  &	���� ���
�
� B�

�� ���� �J��
 ��
 �7��
���� 
�� &
���
,

�*



Kapitel4
��
������

+�

� �
0�
�� 6�����&�� 	06�������� 
� �� �����

	� 
�� �
	�������
 �����	& ��., �����

	���
�������� 0� 6
������ 
� �	������ 	0�
����
 � �	����� �
0�
��, +
 ��
 ������ �����	� ��

� 0�	'��



 ������� �� �����=�� �����

	�� ����
������� �� 	0�
������ ���������� 	� �����

	��� �������� 0�
6
������ 
� �� ����
�������� ���������, >���
���������� ��� 6�����&�
 � #00������ %,

 �� �����$�"��� �����

�


�D�0
�� �� �
 
�
���

�& 
�� ��
	��� ��� 	&���7���������
�	��� 
�� 

 ������� �����

	��� ��
��
, �


�D�0
�� ��
	��� 6
����� ��� 0� �
 
�

� �7��
� 	����� ��J����
�
���������� 	� �� �0�����

&�������� 
�� "<"3
 ���
����, #
 ��
	��� 6
����� ��� 0� �7��
� 	����� ��J����
�
����������
�7�� 

 ��� &=���� 
�&���
 � ��

� 0�	'��
� �
 �	������ 
������� �� 6�����&�
 &�� ���� ���
���
���������,

+�� &�� � ��
 �7������ 6��&� 
�&���
 �� �	


�	��  &	� 
B����� 
� &
��
6��� �	� �����0��&��
d
dtTfrem ����&�� �	� Ṫfrem, >�������� 6��=&��� ��� �


�	�=�� &=��� �	� �
 
�6�'��0���
�� ���
�� �
��� 	&��	&�� 	� ���� 
���
� =���� ��� �����0��&�� T frem� ���� �������
�&=����� 
� &
!
��
6��� ��� =����� ��� 6��=&��� ∆Tfrem,

%�����=������ 6��
�� �


�D�0
�� �	������ 
� 
	 ���������� ��� ��� � 4	���� C,�� ��� 6��=&���
�


� ���������� 	� 4	���� C,�� ��� 6��=&��� 	�
0�
 ���������, 47��
 	0����&�
 ��� �� �	


�	�
��� 	�
� ��� � ��

��

��

7̇(t) = �7(t) +��(t) 9C,�:

�(t) = �7(t) +��(t) , 9C,�:

 &	� �
	�� 6	��

&�� ����&�
 ��� ��� 
���&�� �

������ ���� ��� 6	��

&�� ����&�
 ��� ���

���&�� &��
	���, < �
6�� C,� �� ��� �����&�
 �� ����
�	��6�����&���� 
� �� �����
� �

����� 	�
&��
	��� �
�
 ����� �
7�������,

��������� ����� �������� ������

��



C �����

	�

4���
�	��6�����&���� +������	�

� ���
�� �

���� Q �


�� × Q �


��

� <�0�
 �

���� Q �


�� × Q ��0�
�

� 3�
0�
 �

���� Q 	�
0�
� × Q �


��

� +����
� ��� �

���� Q 	�
0�
� × Q ��0�
�

7(t) �


� &
��
6�� Q �


�� × �

7̇(t) #B����� 	� �


� &
��
6�� Q �


�� × �

�(t) <�0�
 Q ��0�
� × �

�(t) 3�
0�
 Q 	�
0�
� × �


��
� ���� �����
� �����	�� 	 �����,������ ��������	�� ��� �' �' � �� � �����
� 	 ���
�� 
�� �' �' � �� �
$06&7' ��((�)�

+�� 	0�
������ �	��� �� 6�����&�
 &�� �������
�&=������  &	��	� >������ C,� 	� C,� ��� ���
&
��
� �	


�	� 	0����&�� �	�

∆7̇ = �∆7+�∆� 9C,�:

∆� = �∆7+�∆� . 9C,C:

�


� &
��
6�� &=���� 	�
� �	� 	�
0�
 ��
 ������
��� ��� 	0�
���� ������� �	� �����0��&�� �� �'����
�	� �
 ������ ���
��� �� �0	�� �	� �
 ����
���� ���
�� ����� 
��0��

���� �	� 
������� ���
�����
 &����
 ����� M
 	��� �
� 6�����&�� ��� �� ��
���

	� @���*� �,CC/A, 8� ��
 ��� 	0�
������ �	���
� �������
�&=����� ��&�� ��

�� 

 ∆Mtp� ∆Tff � ∆Tfm� ∆Trg� ∆Tfrem 	� ∆λrg &=���� �	� �


�
&
��
6��� ∆7, +�� �� 
	 ��0�
 
�� ���
���
� ∆mtp 	� ∆mluft� ∆�� ���� ∆Tretur �� �� �	��
��������
∆w� 
�� ���
���
, +�� �� 
	 	�
0�
 ��
 ���
���
 ∆Tfrem 	� ∆λrg� ∆�, �


�D�0
�� �	������ ���
�����
����
 0� 4���� C,�,

2x6

6x1

6x6

+
+

6x2

w

+
1
s

����� ���� ���������	�� �
 �����,����� ��
������

�


�&��
	���� ∆7� ��0�
&��
	���� ∆�� 	� 	�
0�
&��
	���� ∆�� 	0����&�� �	�

∆7 =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∆Mtp

∆Tff

∆Tfm

∆Trg

∆Tfrem

∆λrg

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
, ∆� =

[
∆mluft

∆mtp

]
, ∆� =

[
∆Tfrem

∆λrg

]
, 9C,.:

8� ��
 �� ����
�������� ��������� � �������
��&=������ ��� �� �������
 � #00������ %� �� ��

�����
 

 	0�
���� �

�������, +� ����
�������� ��������� �����&�� ��
���7������ ��� ��� �	


�	��

�/



C,�, �


�D�0
�� �	���

��� 
�&����� � ��

� �
0�
��, �	��� 
� ����������� �� ��������� 	�����&�
 
��� 

 �� 
B����� 
� �


�
&
��
6����� �
�� 
���� 0� &���
�� ���� 
� ��� ���
����
�  &����
 ��

�� 	0�
�������� 
� �

�������,
+�
 &�� �����	&�� 6��&� 
���&�
�  &	� �� �	��

�
� ���� ��� �
���� 0� �


� &
��
6��� ��
� �
� �
�� �	��������� �

�����, #���&����� 
� 0�
�������� � �

������� &�� �����0��&�� &=�� a23�  &����


���&��� 

 ��
 �� � �

����� �, �=���� �, �7'��, 47������ �� �� �����&���� 
� 4	���� %,.� ���
6�����&�� �
���6
�
���� �	� ����&
�0��

∆Ṁtp =

b12︷︸︸︷
Km ·∆mtp

b11︷ ︸︸ ︷
−Kflow ·∆mluft

a11︷ ︸︸ ︷
−Kstr ·∆Mtp . 9C,*:

47������ �� �� 	�����&���� 
� 4	���� %,��� ��� 6�����&�� �7��
�
��0��

���� � ��
 �	�����
�
�	�
�	�&	����� � ��������


∆Ṫff =

b21︷ ︸︸ ︷[
htp · Kflow − cluft · Tomg − crg · T ff

Mrgff · crg

− 0, 8 · Aff · Kff

(
T ff − T frem

)
Mrgff · crg · (mluft + 0, 85 · mtp)

0,2

]
· ∆mluft

+

b22︷ ︸︸ ︷[
htp · (1 − Km) − 0, 85 · crgT ff

Mrgff · crg

− 0, 68 · Aff · Kff · (T ff − T frem

)
Mrgff · crg · (mluft + 0, 85 · mtp)

0,2

]
· ∆mtp

+

a21︷ ︸︸ ︷[
htp · Kstr

Mrgff · crg

]
·∆Mtp

+

a22︷ ︸︸ ︷[
−mluft + 0, 85 · mtp

Mrgff
− Aff · Kff · (mluft + 0, 85 · mtp)

0,8

Mrgff · crg

]
·∆Tff

+

a25︷ ︸︸ ︷[
Aff · Kff · (mluft + 0, 85 · mtp)

0,8

Mrgff · crg

]
·∆Tfrem . 9C,�:

47������ �� �� 	�����&���� 
� 4	���� %,�.� ��� 6�����&�� �7��
�
��0��

���� � ��
 ���
���
�

�)



C �����

	�

�	�
�	�&	����� � ��������


∆Ṫfm =

b31︷ ︸︸ ︷[
·Tff − T fm

Mrgfm
− 0, 8 · Afm · Kfm

(
T fm − T frem

)
Mrgfm · crg · (mluft + 0, 85 · mtp)

0,2

]
·∆mluft

+

b32︷ ︸︸ ︷[
−0, 85 · (T ff − T frem

)
Mrgfm

− 0, 68 · Afm · Kfm

(
T fm − T frem

)
Mrgfm · crg · (mluft + 0, 85 · mtp)

0,2

]
·∆mtp

+

a32︷ ︸︸ ︷[
mluft + 0, 85 · mtp

Mrgfm

]
·∆Tff

+

a33︷ ︸︸ ︷[
−mluft + 0, 85 · mtp

Mrgfm
− Afm · Kfm · (mluft + 0, 85 · mtp)0,8

Mrgfm · crg

]
·∆Tfm

+

a35︷ ︸︸ ︷[
Afm · Kfm · (mluft + 0, 85 · mtp)

0,8

Mrgfm · crg

]
·∆Tfrem . 9C,/:

47������ �� �� 	�����&���� 
� 4	���� %,��� ��� 6�����&�� �7��
�
��0��

���� �� � ��	��
����
	� � ��
 6
����
� �	�
�	�&	����� � ��������


∆Ṫrg =

b41︷ ︸︸ ︷[
Tfm − T rg

Mrgfb
− 0, 8 · Afb · Kfb

(
T rg − T frem

)
Mrgfb · crg · (mluft + 0, 85 · mtp)

0,2

]
·∆mluft

+

b42︷ ︸︸ ︷[
−0, 85 · T fm

Mrgfb
− 0, 68 · Afb · Kfb

(
T fm − T frem

)
Mrgfb · crg · (mluft + 0, 85 · mtp)

0,2

]
·∆mtp

+

a43︷ ︸︸ ︷[
mluft + 0, 85 · mtp

Mrgfb

]
·∆Tfm

+

a44︷ ︸︸ ︷[
−mluft + 0, 85 · mtp

Mrgfb
− Afb · Kfb · (mluft + 0, 85 · mtp)

0,8

Mrgfb · crg

]
·∆Trg

+

a45︷ ︸︸ ︷[
Afb · Kfb · (mluft + 0, 85 · mtp)

0,8

Mrgfb · crg

]
·∆Tfrem . 9C,):

��



C,�, �


�D�0
�� �	���

47������ �� �� 	�����&���� 
� 4	���� %,�.� ��� 6�����&�� 
��0��

���� � �����76�&
���


∆Ṫfrem =

bw,15︷ ︸︸ ︷[
mvand

Mvand

]
·∆Tretur

+

b51︷ ︸︸ ︷[
0, 8

Mvand · cvand · (mluft + 0, 85 · mtp)
0,2 · (Aff · Kff · (T ff − T frem

)
+Afm · Kfm · (T fm − T frem

)
+ Afb · Kfb ·

(
T rg − T frem

))] · ∆mluft

+

b52︷ ︸︸ ︷[
0, 68

Mvand · cvand · (mluft + 0, 85 · mtp)
0,2 · (Aff · Kff · (T ff − T frem

)
+Afm · Kfm · (T fm − T frem

)
+ Afb · Kfb ·

(
T rg − T frem

))] · ∆mtp

+

a52︷ ︸︸ ︷[
Aff · Kff · (mluft + 0, 85 · mtp)

0,8

Mvand · cvand

]
·∆Tff

+

a53︷ ︸︸ ︷[
Afm · Kfm · (mluft + 0, 85 · mtp)

0,8

Mvand · cvand

]
·∆Tfm

+

a54︷ ︸︸ ︷[
Afb · Kfb · (mluft + 0, 85 · mtp)

0,8

Mvand · cvand

]
·∆Trg

+

a55︷ ︸︸ ︷[
(−Aff · Kff − Afm · Kfm − Afb · Kfb) ·

(mluft + 0, 85 · mtp)
0,8

Mvand · cvand

− mvand

Mvand

]
· ∆Tfrem . 9C,��:

47������ �� �� 	�����&���� 
� 4	���� %,��� ��� 6�����&�� ��
��&�
��
 � �7��
����

∆λ̇rg =

b61︷ ︸︸ ︷[
0, 21 · KV →M − Kprop · Kflow − λrg

Mrgf

]
·∆mluft

+

b62︷ ︸︸ ︷[
Kprop · (1 − Km) − 0, 85 · λrg

Mrgf

]
·∆mtp

+

a61︷ ︸︸ ︷[
−Kprop · Kstr

Mrgf

]
·∆Mtp

+

a66︷ ︸︸ ︷[
−mluft + 0, 85 · mtp

Mrgf

]
·∆λrg(t) . 9C,��:

��



C �����

	�

�
���
���� �	� �

�������� ��� ������ � �


�D�0
�� �	������� 6��&��

� =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

a11 0 0 0 0 0
a21 a22 0 0 a25 0
0 a32 a33 0 a35 0
0 0 a43 a44 a45 0
0 a52 a53 a54 a55 0

a61 0 0 0 0 a66

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
9C,��:

� =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

b11 b12

b21 b22

b31 b32

b41 b42

b51 b52

b61 b62

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
, �� =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0
0
0
0

bw,15

0

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
9C,��:

� =

[
0 0 0 0 1 0
0 0 0 0 0 1

]
. 9C,�C:

+� &=������ ��� ��
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� � �

������� �� � 	� �� &�� ��
 �
�
�


� 
�6�'��0���
� �
� ;���� ���
"����� ����0
�
 �


��0
��,� ��� ;���� 0� ��� &���
�
� 2+,

����� �	�����	���	��

+
 �����

	��� ��
� ��0�����
���� 0� �� �	�0�
��� � ��

� 
���=��� F-2  	�
��� �� ��
 �7�&�����



 ������
����� �� 	0�
������ �

�����, +� ������=������ ���������� &��
 � 4	���� C,� 	� 4	����
C,�� �	���� � �� ������
� &����	��� 
�� 

 �� �� �	�

7[n + 1] = ��7[n] +���[n] 9C,�.:

�[n] = ��7[n] +���[n] , 9C,�*:

 &	� ������ d 
���&��� 

 �

������� �� ������
�������, "�� ��� 
�&���
� �	


�	� 	� �� 	0�
������
�

������ 6��&�� �


�D 	� 	�
0�
���������

∆7[n + 1] = ��∆7[n] +��∆�[n] +���∆Tretur 9C,��:

�[n] = ��∆7[n] . 9C,�/:

+�����
��������� �	��

��� � "����� ��� �	��
��	�� ���� ��� �� 	&�� �

������� 

��� �
�!
0������&����� �
�
  &����� ��
	��� ��� ��
� ������
������ ��
��� �	� ��0�
 
������
, �
�0�����!
�&����� �=

�� 
�� ��� (I� �
 ��
 �� ��� �
�0������&���� ��� 
�&����� � ��
���
��
 ��
 F-2G�� 
��
�����	& ��. �
	�������
� 	� ��� ������
������ ��
�� I��	D	����D 	�� 9N3(: ��
	���, 8�������!
������ �	��

��� � "����� ����0
 �


��0
��,�,

R6����7'��0	����� �	� ���
���
 �
� ;���� �	� ����&=������� 
� ���
�� �

����� ���  &����
 �
�
�7��� &�� 

 �7��

det [λ$−��] = 0 , 9C,�):

��



C,�, �


�D�0
�� �	���

 &	� $ �� �� n×n ����
�
�
��

�����  &	� n �� 
�

���
 
� �


�� � ���
���
, +
 �6����7'��0	�����
��� �

����� �� �������� � ������
 
��� &�� �� �

6��� 0	��� ����� ������	� �� ����������� 	� ����
�  7'��  
�&0�
� �	� �	� ���
���� � �	�
�����
 
��, #�
���

�&
 �
� �6����7'��0	����� ��������
�	� ����&=������� �	� �� �

����� � "

�
6 ��� �	��
��	�� �����,

����� ���	�����

+
 ��
 ���� �� 
��� �


�� � ���
���
� ��� �
� ������ �� ��
 �7�&�����
 

 ��0�����
��� ��
��
��

	�, �� ��
��

	� ��� 	��� 
�&���
 � 
���=����  &	� ��� 
�
����� �


� �
� ������ �
 ��
 ��
�� ��
	�� 

 �������� ����	�D 	� 
���

��D$0�	�����
7', <���� �� ��
��

	� �
� ��������� �� ��

�7�&�����
 

 
��
�� 	� ��
 �� �����
 

 ������� �� ��
��

	�, +�

� �7��� &�� 

 ������� ��
	6���&��6
� ����

���� O ��&�
 &�� @���*� �,.��A

O =

⎡⎢⎢⎢⎢⎣
��

����

,,,

���
n−1
�

⎤⎥⎥⎥⎥⎦ , 9C,��:

 &	� n �� 
�

���
 
� �


��, 4	� 

 ���
���
 �� 	6���&
�6
�
� ��
� O  
&� ���� �
��, 36���&��6
�!
 ����

����� �
� � "����� ��������� &�� 6��� 
� �	��
��	�� 	
��, #
 
��
� �	� 	6���&��6
�!
 �� 0� ����� ���� ��
����� �	�� �
 ��
	��� �� ��������� ��

6���  &	��	� ��� ��
���
 
�&�����
�	��
��	�� 	
��
� ��� 
�6��
��� � "�����  '=�0�����
�	��� @<����A, "�� ����� ���������
 &
� ��� �&
��� 
�� �
���� 
� O 
�� �����  &	�&�� ���
���
 �� 	6���&��6
�
,

��� ��� 
�&����� �� ���� 	����� ��
��

	��  &	� ��
��&
���
��0��

���� ���

��� �	� �� ��!
�6
� �	��
�������� �	���� 6�	���
��
���
 �	� �


�D�0
�� ��
��

	��	������ 
�� 

 �� �� �	�
�����
����
 0� 4���� C,�,

[n]
[n]

Systemet

Estimator

6x2

+
-

2x66x2

6x6

Z-1+
+

+

[n]~

++[n]

++

+-

Arb.pkt.

Arb.pkt.

- +
Arb.pkt.

[n]

[n] [n]

Benekov R25
Tretur[n]

Tretur[n]

6x1

����� ���� ���������	�� �
 �����,����� ���	�������
�����' ���� �������� ��������� ��� 
�� 
��	��� ����� 	 ���
��

�� �����,����� ��
������ 6����	���� d̂ot� ���	���' �� 
�� �� 
� ���	����
� ������ �� �	����
�� 
�� ����������

�	� ��
 ��� 0� 4���� C,�� �� ��� �� 
���7'�
 ����� �� �

���� -� ��� 6��=&��� ��
��

	� �

�����,
"

����� - 6����� 
�� �76���� 

 '��
��� �� ��
������� �


��� �
 ��
 �
&�� 
��6
���	6���� 
� ��'���

��



C �����

	�

�̃[n] ������ ��
 ��
������� 	�
0�
 �̂[n] 	� ���
���
� 	�
0�
 �[n], "

����� - �
� �������� 0�
B��� ������ �	� �����0�� &�� 

 6��
���� 0	����� �	� ��
��

	���, E�� 

 &=��� 0	���� ��� ��
 ��
����� ��� ��� �	� ���
���
� 6��&�� ��'��� 
� ��
��

�
 ������� ���� ��
 &�� 

 &=��� 0	����
��� �� �
���	������ �� �����
 

 �����
����� �
7', -	����� � ��
��

	��� �
� �������� �	�

det [λ$− (�� − -��)] = 0 , 9C,��:

 &����
 �� ��
 �
��� �	� 

 ;��� ����&=������� �	� �� − -��, ��
��

	� �

����� &�� � ��

�
0�	'��
 6��&� 6��
��
 &��  '=�0 
� "����� 	� ����
�	��� ����, 4���
�	��� 6��
����� �����!
�=������ �
 �


�	�=�
 �
��
� ;�
���  &����
 �	� ���� &�� 6��&� 6�����&�
 �=������ �
 ��

�
������ �����	� �	���	�����
 �	� ��

� 0�	'��
, 4���
�	��� 6��
����� �� �
���� ��� ��
� �
� �
��
��

	� �

����� -� �� ��
 �����������

7[n + 1] = ��7[n] +���[n] +45[n] 9C,��:

�[n] = ��7[n] +���[n] + �[n] , 9C,��:

 &	�
w[n] �� 0�	�����
7'

u[n] �� ����	��
7'

4 �� �� �

����� ��� &=�
�� �� �����
� �


�� 0�	����
7' ���&������� 0� 
���
�


��� ��� 	0�
����� �	� �� ����
�
�
��

�����  &	�&�� �
7' 0� �� �


� ���
0�&����� ��� �����
� �


�,

�	� ��0�
 
������
�� 
�� ����
�	��� ���� 
�&����� �

������� �� 4� �� 8� 	� )�, "

�������
8� 	� )� 6��
����� �	�

8� = E
{
wwT

}
og )� = E

{
vvT

}
, 9C,�C:

 &	� E {}  ��&���� 
�� ��� �	�&��
��� &=��� 9�F0��
�� &
���: 
� ����������� ������ �� 
	 {}� ���
����=

�� � �

�������, +�� &�� �	� 6���� �

����� ��� 6��&� 
������&�
 &=����� 0� ��
�	�
���� �

��� ��� 6	�
 ��
 ��� ������	��
������� ������
���� �����	� ��
�	�
��� ��0�=���
����, +�� 
������&��
&=����� �	� 0�	�����
7' 
�� �


��� ∆Mtp� ∆Tff � ∆Tfm 	� ∆Trg, -�	�����
7'�� 0� ����&
�0���
�
7������� ∆Mtp� �=

�� 
�� 0, 01� �
 ��
 ���� ����� ���
���
���� 

 ����&
�0�� �
� &
����� ±10
��
� � �
7������� ��� �
	����� 	� 6�=����� �7��� ��� �
�
 ��
� ����, -�	����
7'�� 0� �� 
��
�


��� ��� ���

�� ��� 
�� 
��0��

������ � ��������
� �=

�� 
�� � ◦C � �
 ��
 �� 	6���&���
� 



��0��

���� � �7��
���� �� � ��	��
���� &
������ �� ����
 ��� �
	��� 	� 6�=��� �7����� ���
�
�
 ��
� �����, #
 �� 
	 
���� 
��0��

���� 
������&�� �
��� &=���� 	� ���� �� �
7��� &=����
�	� 	���  
&�� &=��
 �������
� �������� 

 ��
 ���� &�����  &	� ����
 �
7��� �� ������ �=

��,
8� ��
 �������� 0� ���
���
� &������� ��
� 

 ����	��
7'�� 0� �����76�&
���
 �� � ◦C � ����
����	��
7'�� 0� ��
�������� �� ��� H, 8� ��
 ��

� �� ��
 �����
 

 	0�
���� �

��������  &	� 8�

�� �� 6 × 6 �

����� ���� )� �� �� 2 × 2 �

����

8� =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0, 0001 0 0 0 0 0
0 4 0 0 0 0
0 0 4 0 0 0
0 0 0 4 0 0
0 0 0 0 0 0
0 0 0 0 0 0

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
, )� =

[
1 0
0 0, 01

]
. 9C,�.:

�C



C,�, �


�D�0
�� �	���

8� ��
 ��

� 6��
����� - �

����� � "����� 
��

- =

⎡⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

0, 74 · 10−3 −99, 20 · 10−3

0, 25 −30, 79
0, 10 −11, 68

36, 90 · 10−3 −3, 63
0, 32 · 10−3 −6, 40 · 10−3

−63, 61 · 10−6 6, 00 · 10−3

⎤⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
. 9C,�*:

"�� ��� ��������� ��
��

	��

���� �
� 0	����� � ��
��

	��� ;���� 
��
(0, 9719; 0, 9779; 0, 9820; 0, 9956 + 0, 0040i; 0, 9956 − 0, 0040i; 0, 9997),

����
 �������
 ����
��	��

4	� 

 	0�� �� �	6��
 ���������� 7����� ��
 

 
���7'� �
 ��
���

�	������ ������� 

 �	��������
������ ��������� 	� 	�
0�
 ��
������� 	0 	� 	&�� 
�� 6��&�� ���� ���&	� ��� ������ ��� ������
=�������� � ���
���
� 0
�
��
��, ��� ��
���

	��� 	� 
��6
���	6������

������� 
���7'�� ���
���
�
�	���� �


�D�0
�� �	������ 
�� 

 �� �� �	� �����
����
 0� 4���� C,�

[n]
[n]

Systemet

Estimator

6x2

+
-

2x66x2

6x6

Z-1+
+

+

[n]~

++[n]

++

+-
Arb.pkt.

Arb.pkt.

- +
Arb.pkt.

[n]

[n] [n]

Benekov R25
Tretur[n]

Tretur[n]

6x1

2x6

2x2

Z-1 -
-+

-

Ref.

[n]

����� ��	� ���������	�� �
 �����,����� ��
����� ��
 ���	�����' 	��������� �� �	���������	���

E�� 
���7'����� 
� ��
���

	��� �	���� ��� 
	 �


�� ���� � ���
���
� �� �	�  &�� 
� �� 
	 ��0�
,
(���� �� ��
 �7�&�����
 

 ��&��� �


�D�0
�� �

������� ����� 
��6
���	6������

����� "� ���
���� 	���� 6��� "� 	� "� 0� 4���� C,�� �
� 6��
�����, 30����&�� �� ������=������ �


�D�0
��
��������� ���� �	� ���
���
� ��� ��
���

	��� ���

���� ����

∆7�[n + 1] = ��∆7�[n] +��∆�[n] 9C,��:

�[n] = ��∆7�[n] , 9C,�/:

�.



C �����

	�

 &	�

7� =

[
∆7̂
∆7�

]
, 7� =

[
Tfrem − Ref.(Tfrem)

λrg − Ref.(λrg)

]

�� =

[
�� 3(6×2)

�� $(2×2)

]
, �� =

[
��

3(2×2)

]
, �� =

[
�� 3(2×2)

3(2×6) 0, 05 · $(2×2)

]
,

 &	� 3 �� �� �

���� 6��
����� 
� ������� ��� �������	����� �	� 
���&�
 � �������
� ���� $ ��
�� �� ����

���� ��� �������	��� �	� 
���&�
 � �������
, #
 �� ����

����� �
���� ��� ��
�
�
	� 0� ���. � ��� ��7&�� ��
���

	���� ������� 

 ��
 

��� �� �
�0��� 9�$���.: 

 	0�� �
���
&=��� 0� 	�
0�

�
 
� ��
���

	���� �	� M� �
�0�� &�� 

�� ���� �
�
	����  &�� ��'��� ������
	�
0�
 
� ���
���
 	� ���������� �� �	��

�
, +� �� �
�0��� �� &
��
 
���=����
,

E�� 

 ����=

� 
��6
���	6������

������� "� ��� �� ��&�
 &��

" =
[
"� "�

]
,

�� ��
 �����
 

 B�

� 0	����� � ���
���
� ������� 

 ���
���
 ��� ��� 7������ ���
���, 8�
��
 4���� C,� �
� ��
 ���� 

 �������
���0�

�
 
�� ���
���
 ���

���� 
�� �


����� � �� ��&�����
�


�D�0
�� �	����� �	�

∆�[k] = −"�∆7̂[n] − "�∆7� ⇒
= −"∆7� , 9C,�):

 &����
 	��� �� ����
 �	� �	�
�	��	&��, #�&����� �	�
�	��	&�� 0� 4	���� C,�� ����

∆7̇� = ��∆7� −��"∆7� , 9C,��:

 &����
 ��&��� 

 �����
��7'��0	����� �
� �������� �	�

det [λ$− (�� −��")] = 0 , 9C,��:

 &����
 �&
��� 
�� 

 ;��� ����&=������� �	���−��"� ��� �	� 
�������� �=&�
 �
� �7��� � "�����

��� �	��
��	�� �����,

����� ���	�� �� �	
�������
	�������	�� �

<���� ��� �
� �������� �� 
��6
���	6������

���� �� ��
 �7�&���
��
� 

 �	�
�	����� 	� ���
���

�� �	�
�	����6
�
�  &����
 �
� �7��� ��� �� �

���� C � ��� �� ��;����
 �	� @���*� 0,/C.A

C =
[
�� ���� �

2
��� ... �n−1

�
��

]
, 9C,��:

 &	� n �� 
�

���
 
� �


�� � ���
���
, 4	� 

 ���
���
 �� �	�
�	����6
�
� ��
� C  
&� ���� �
���
 &����
 �� ��
 �
��� �	�� 

 �

����� 6��
�� 
� n ����=�
 �
� =����� �=����, �	�
�	����6
� ���!
�

����� C �
� � "����� ��������� &�� 6��� 
� �	��
��	�� ���
, #
 
��
� �	� �	�
�	����6
� ��
0� ����� ���� ��
����� �	�� �
 ��
	��� �� ��������� ��

6���  &	��	� ��� ��
���
 
�&����� �	�!
�
��	�� ���

� ��� 
�6��
��� � "�����  '=�0�����
�	��� @<����A, "�� ����� ���������  &
�
��� �&
��� 
�� �
���� 
� C 
�� /�  &	�&�� ���
���
 �� �	�
�	����6
�
� �
 ��� �� 	

� �


�� � ��

��&����� ���
��, ���6
���	6������

����� - �
� 6��
����� 0� B��� ����� ��� � ��

� 0�	'��

6��
����� ��� ��
�� �
��� 0�����0 �	� ��
��

	� �

����� 6��& 6��
��
 
��������,

�*



C,�, �


�D�0
�� �	���

-����	 8���	���� )������
	

���6
���	6������

����� " �������� 0� 6
������ 
� >S� ��
	���� ��� �� �� ��
	�� 
�� 

 	0��
	0
��
� ���������� � �	� 	�� 
�� ��� &=�
����� ��� &=���� �	� �	� 	���
 ������ 0�=����	� � ����!
�������� 	� ��� ����

� �����

	��� ��
� ���, < >S� ��
	��� 
�&����� �� 	��	�
���������
�	�
��&�
 &�� @���*� �,C)�A

J =
∫ 0

∞

(
7T ·8 · 7+ �T ·) · �) dt , 9C,��:

 &����
 � ������
 
�� �&
��� 
��

J =
0∑
∞

(
7T ·8� · 7+ �T ·)� · �

)
. 9C,�C:

E�� 

 �������� 	��	�
���������
�	��� �� ��
 �����
 

 	0�� 	0
��
� ����������, E�� 

 &=���
�	��� 0
������ 8 	� ) �

����� �	��

��� �� &=�
���� ������ �


�� 	� 	�
0�
 �������� 


��� 	0���� 
���0

6�� &=����� �	� �� �	��������� �


�� 	� 	�
0�
, >S� ��
	��� 
�&����� 	�
�
�
��

�&
 �	� 

 	0�� 
��������
������� �����


��� ��� �� ��
	��� 

 �

�
� ��� 

 &=��� 8 	� )
�� ��
� �� ����
 �	� ����	��G� ������ ��� ������ 

 8 	� ) �
� &=���� �	� @���*� �,C)�A

8ii =
1

maximum acceptable value of (x2
i )

9C,�.:

)ii =
1

maximum acceptable value of (u2
i )

. 9C,�*:

"

������� 8 	� ) 6��&�� ������� �

������ ��� ���� 	���� ��� 0� 
��� 
���� ������
�� ��� ��!

�	�
���, 4	� 

 	0�� 	0
��
� ���������� ��
� 8 &=�� 0	��
�& ����D��;��
� ���� ) ��
� &=��
0	��
�& ��;��
, +
 �


�D�0
�� �	������ 6
����� ��� 0� �������
�&=������ �&
��� ��� �
����
�


���0

6�� &=��� 
�� ��� �
����
�� =������ 
� &=������ ��� �� 
���0

6��, +
 ���
���
 �� ������!

�����
� �
� 
��6
���	6������

����� �������� � "����� ��� �	��
��	�� ����, +�
 �� � ��

�
0�	'��
 ���� ����&
�
 

 6���=��� 
��� �� �	��������� �


�� ��� ��� 

 6���=��� �� �


��� ���
�� 	�
0�
�  &����
 �
� 	0����� �
 �7������ 	�����&���� �=����

�T8�� = (�7)T 8��7 = 7T�T8��7 , 9C,��:

 &	� &=������� � 8� &=���� �	�

8�,ii =
1

max(y2
i )

. 9C,�/:

"

����� 8� ��
� ���� 	��� ���� �� �
��� �=���� �	� ��� � �

����� ��� �
�� 	������ ���, "��
�� ��&����� �


�D�0
�� ��������� ��&�� ��
� 

 ��� ��
� &=�� ;�� �=���� � 8�� ���&	� ��� ��� ��

	 	�
0�
, +� ������
� 
	 �=���� � �� �

����� ���

���� ��� 
�� ��
���

	����  &	��	� �� ������
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Tfrem(t) = ±3◦C
λrg(t) = ±1%

mluft(t) = ±40%
mtp(t) = ±9% .
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]
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��� ���� /)��CC 30, 42 · 10−3

)� ��*� /��)C. 30, 05 · 10−3

/� ��.� /C�*C� 28, 92 · 10−3

�� ��.� /C�*C� 28, 92 · 10−3

*� ��.� /��.C� 28, 55 · 10−3

.� ��C� /���C) 27, 42 · 10−3

C� ���� �*�).� 26, 29 · 10−3

�� ���� *)��.* 23, 66 · 10−3

�. ���� */��.� 23, 29 · 10−3

�� ��/� *��.*� 21, 03 · 10−3

�. ��.� .��**� 17, 65 · 10−3

�� ���� C��*�C 13, 90 · 10−3

. ���� �C��/. 8, 26 · 10−3
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y = 2,46E-11x5 - 7,56E-09x4 + 9,13E-07x3 - 5,54E-05x2

+ 1,81E-03x

R2 = 9,99E-01
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�
���, �	��� 
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��
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��  &	� �� &=����� ���
�� 
�&���
 � #����
 �,� �
���
 ������6
�
��� �	� �
	������ �����	& ��. 	��� &�� 6��&� 
�&���

 ��, < #����
 �,� �� ����&
�0��� �
7������ 6��& 
�����
� 	� �
���B	5�
 
� &
�� 6��& �������
�

�=0����� 	� ���
 �� 6��
��
� �����	� ��
��&�
��
 � �7��
���� 6��& ���
 
��
mtp O ��/..·10−3 ��$�

mvand O ��C��� ��$�

λrg O /�C H

Mtp O ��� �� ,

'��"���������������
���

-�	0	�
�	�
��
�
��
�
	���� Kprop� �������� 0� 6
������ 
� �	� 	���
 ������ 6�=����� 	� ���

�	� �� �������
 � 4	���� �,� � #����
 �,� %�����=������ �	�6�=������
�	��, 4	� 	���
 ������
���
 	� 6�=����� 6��& 6������
 
�� .��� �3 ���
$�� 6�=�����, 8� ��
 ��

� �
� �	� 	���
 ;����
� �� ��
$�� 6�=������ ��� ��
0�	���
�� � ���
�� �
�
 �
��������� 
� ��
 ������, +�� ������ ���
�
 ��
��&�
� � ���
�� 0� �� H� ���� �� �	��
���6����
��&=�
 �	� ��
 0� ��C�) ��$�3 
�&�����
@� 7��� �,*CA, "�� ����� 

� ��&�� 0�	0	�
�	�
��
�
��
�
	���

Kprop = 0, 21 · 5, 00m3

kg
· 1, 429 kg

m3

= 1, 500 . 94,�:
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� �	��
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�� ��� 
� 
�=0������� ��� ��
� ����� � �
���6
�
���� �	� ����&
�0��, +�
 
������ 

 �� H 
�

�=0������� ������ � �
���6
�
����� ���� �� H ������ �	� �
� &�� ����7������� � ��������
�
���� C� H 
� �
���B	5�
 &=� ��
 ����&
�0�� ���� �	� ����
�	� 
� �
7�������� ���� *� H ����
�	� ����
�	� 
� ���
B	5�
,

d

dt
Mtp(t) = Km · mtp(t) − Kflow · mluft(t) − Kstr · Mtp(t) .

"�� �� ���
� 	� 
������� &=����� ��&�� ��
 � �
�
�� �


�

0 = Km · 0, 855 · 10−3 − Kflow · 0, 259 · 10−3 − Kstr · 0, 4 ⇒
Km · 0, 855 · 10−3 = Kflow · 0, 259 · 10−3︸ ︷︷ ︸

60%

+ Kstr · 0, 4︸ ︷︷ ︸
40%

.

8� ��
 ��� 
������� �	������� 
� �
��� 	� �
� � 
�=0������� �
�
 &=�
������ 
� �
���B	5 
�

�=0����� &=� ��
 ����&
�0��� �
� Kstr 	� Kflow �� ;���� 
��

(0, 7 · mtp) · 0, 60 = Kflow · mluft ⇒

Kflow =
0, 359 · 10−3

14, 597 · 10−3

= 24, 600 · 10−3 ,

(0, 7 · mtp) · 0, 40 = Kstr · Mtp ⇒
Kstr =

0, 240 · 10−3

0, 300
= 0, 798 · 10−3 . 94,�:

�� �	�
�	� 
� &
��
6������ �
7������ ��&��

d

dt
Mtp = 0, 7 · 0, 855 · 10−3 − 24, 600 · 10−3 · 14, 597 · 10−3 − 0, 798 · 10−3 · 0, 3

= 13, 8 · 10−9

≈ 0 94,�:
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Aff = 0, 293 · 0, 344
+2 · [0, 355 · (0, 293 + 0, 137) − 0, 036 · (0, 234 + 0, 047) − 0, 247 · 0, 047]

= 701, 13 · 10−3 m2 , 94,C:

Afm = 3 · [0, 050 · 0, 344] + 2 · [0, 344 · 0, 600]
+2 · [(0, 050 + 0, 065 + 0, 050) · 0, 758 − 2 · (0, 050 · 0, 600)]

= 594, 54 · 10−3 m2 , 94,.:

Afb = 0, 344 · 0, 600 + 0, 344 · 0, 547 + 2 · [0, 065 · 0, 758]
= 235, 32 · 10−3 m2 . 94,*:
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� �7��
� � ��
 
�� �	�
�	�&	�������

Mrgff = [0, 355 · 0, 344 · (0, 293 + 0, 137) − 0, 036 · 0, 344 · (0, 234 + 0, 047)
− 0, 247 · 0, 344 · 0, 047] · 0, 5170

≈ 23, 28 · 10−3 kg , 94,�:

Mrgfm = [(0, 050 + 0, 065 + 0, 050) · 0, 344 · 0, 758 − 2 · (0, 050 · 0, 344 · 0, 600)] · 0, 7356
≈ 16, 47 · 10−3 kg , 94,/:

Mrgfb = [0, 065 · 0, 344 · 0, 758] · 0, 9329
≈ 15, 81 · 10−3 kg . 94,):

+�� �
����� �
��� 
� �7��
� � ��������
 6��&�  �����

Mrgf = 23, 284 · 10−3 + 16, 466 · 10−3 + 15, 812 · 10−3

= 55, 56 · 10−3 kg . 94,��:
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 ������ &=�� ��� ◦C ,

d

dt
Efm(t) = Wrgff (t) − Wrgfm(t) − Wfm→v(t) ⇒ 94,��:

Mrgfm · crg · d

dt
Tfm(t) = crg · mrg(t) · Tff (t)

−crg · mrg(t) · Tfm(t)
−Afm · αfm(t) · (Tfm(t) − Tfrem(t))

⇓
αfm(t) =

crg · mrg(t) · (Tff (t) − Tfm(t))
Afm · (Tfm(t) − Tfrem(t))

⇒

αfm =
1012 · (14, 60 · 10−3 + 0, 85 · 0, 855 · 10−3

) · (600 − 300)
594, 54 · 10−3 (200 − 57, 7)

= 36, 645
αfm = Kfm · m0.8

rg ⇒ 94,��:

Kfm =
36, 645

(14, 60 · 10−3 + 0, 85 · 0, 855 · 10−3)0,8

= 1036, 85 94,��:

+� 
���� �	��

�
�� αff � αfb� Kff 	� Kfb �� �������
 0� �
��� ����,

4.



4 #�&���
� �	��

�
��

)"��������� �� 
���������

Aff = 701, 13 · 10−3 m2

Afm = 594, 54 · 10−3 m2

Afb = 235, 32 · 10−3 m2

crg = 1012
J

kg · K
cluft = 1007

J
kg · K

cvand = 4, 18 · 103 J
kg · K

htp = 17, 8 · 106 J
kg

Kstr = 0, 798 · 10−3 1
s

Kflow = 24, 600 · 10−3

Kff = 1097, 40
J

m2 · kg0,8 · s0,2 · K
Kfm = 1036, 85

J

m2 · kg0,8 · s0,2 · K
Kfb = 3609, 70

J

m2 · kg0,8 · s0,2 · K
Kprop = 1, 500
Mrgff = 23, 28 · 10−3 kg
Mrgfm = 16, 47 · 10−3 kg
Mrgfb = 15, 81 · 10−3 kg
Mrgf = 55, 56 · 10−3 kg

Tff (t) = 400 ◦C
Tfm(t) = 200 ◦C
Trg(t) = 100 ◦C
Tomg = 20 ◦C

+� ���
��� �	��

�
�� �� 6����������&=������ ���  &	� �� &�� ����
 &�� =���� ���� �����0��&��

��0��

������� 0��=� 	���&�����
��0��

���� ��� ������ �	��

�
,
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AppendiksG
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 �� �	
�	�
��

+�

� 
00������ 6�����&�� ����
���������� 
� �	������� ��� 
�&����� 
�� 	0�
������ 
� �


� �0
��
�	���� 	� ������ 	��� �����

	�������, +�� &�� � ��

� 
00������ 6��&� 
�&���
 �� �	�
��� �	��

� &
��
6�� �
&��, ����
� =���� ���� ����
���� ������� 

 �����0��&�� mtp(t) ����&�� �	� mtp�
���� 
B����� 
� &
��
6��� �	� �����0��&�� d

dtTfrem ����&�� �	� Ṫfrem,

>���
���������� �	��

��� ��
�� 0�	������� 6�����&�
 � @-����� �,*�A� ���  �� �� �����&�


�, ���
�� 
�6�'��0���
�&=����� �	� �� &
��
6�� &�� 

 �7�� �� �����=�� ��������� � �


�	�=�

���

��,

�, ���


 �� &
��
6�� � ����������� ��� 
�6�'��0���
�&=����� 0��� �������
�&=����� 9x(t) =
x + x̂(t): 	� 
���=�� �����=�� ��� ��� �7��
� 	����� �
��	� 
00�	����

�	���,

�, #�6�'��0���
 ��������� 
�=���� ��
 ��� 
���=����� �������, �����


�
 �� �� ����=� �������
� �������
�&=�����,

#�6�'��0���
�� 6��=&��� ��� �� �
��� 	&��	&�� 9x:� ���� �������
�&=����� 6��=&��� ��� ��
 

 	&��	&�� x̂(t), >��  &	� ��� ������ 0�	���
�
 
� 
	 �������
�&=����� �
������� �
 �� ��� �	�
��� ��� �������
�&=������� �� 
���
�=������
 ���,

�
��	� 
00�	����

�	��� 
� �� ����
�	� ��� B��� &
��
6�� �	��

��� ��
�� �7������ 0�����0

f(x1 + x̂1, x2 + x̂2, x3 + x̂3, ...) ≈ f(x1, x2, x3, ...)

+
∂f(x1, x2, x3, ...)

∂x1 x1 = x1

x2 = x2

x3 = x3

,,,

· x̂1

+
∂f(x1, x2, x3, ...)

∂x2 x1 = x1

x2 = x2

x3 = x3

,,,

· x̂2 + · · · . 9%,�:

%�



% >���
�������� 
� ���������

3���&�����
��0��

���� &�� � �� ��
���7������ ��������� 6��&� �����
 �	� �	��

�
,

!���
��"

>���
���������� 
� �
���6
�
���� �	� 
�=0������ 4	���� �,��

Ṁtp = Km · mtp − Kflow · mluft − Kstr · Mtp . 9%,�:

!�"�� #���� � $ ����	�� � 
	��	��

E�� �


�	�=� 
���

�� �� ��� ����� =������ 
� �
�����  &	�&�� ��� �


�	�=�� ������� 6��&��

0 = Km · mtp − Kflow · mluft − Kstr · M tp , 9%,�:

��� ��� 
�&����� �	


�	��� �	� 
�6�'��0���
�&=����� ��� �� �
��� 	&��	&��,

!�"�� #���� � $ ������ ���	��
� �� �������	���
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�� &
��
6�� ��� �� 
�6�'��0���
�&=��� 	� �� �������
��&=���

Ṁ tp + ˙̂
M tp = Km · (mtp + m̂tp) − Kflow · (mluft + m̂luft) − Kstr ·

(
M tp + M̂tp

)
. 9%,C:

>�������� ���� 	���� ����� �����=�� ����  &	��	� ��� �	�
�=

�� 
�� 0���
 �,

!�"�
 #���� 
 $ 
	�� � 
	��	�� 	 ��%�	���
� ��	��

+�� �


�	�=�� ��������� ��

�=���� ��� ��
	0 �����	��� �������� 	� 
B����� 
� �


�	�=�&=�!
���� �=

�� 
�� ��  &����
 ��&��

˙̂
M tp = Km · m̂tp − Kflow · m̂luft − Kstr · M̂tp . 9%,.:

+�

� �� ��� ����=�� ������� � �������
�&=����� ��� ��
� 
�&����� 
�� 	0�
������ 
� �


� �0
��
�	���,

(����� $ �������� ���

>���
���������� 
� ������6
�
���� �	� ��� �	����
�� ��� 
� ��������
� �
&�� �� ��
 4	���� �,�/

Mrgff · crg · Ṫff = htp · (Kflow · mluft + Kstr · Mtp + (1 − Km) · mtp)
+cluft · Tomg · mluft

−crg · mrg · Tff

−Aff · αff · (Tff − Tfrem) . 9%,*:

%�



!�"�� #���� � $ ����	�� � 
	��	��

E�� �


�	�=� 
���

�� �� ��� ����� =������ 
� 
��0��

�����  &	�&�� ��� �


�	�=�� �������
6��&��

0 = htp ·
(
Kflow · mluft + Kstr · M tp + (1 − Km) · mtp

)
+cluft · Tomg · mluft

−crg · (mluft + 0, 85 · mtp) · T ff

−Aff · Kff · (mluft + 0, 85 · mtp)
0,8 · (T ff − T frem

)
, 9%,�:

��� ��� 
�&����� �	


�	��� �	� 
�6�'��0���
�&=����� ��� �� �
��� 	&��	&��� 	� ����������� 
�
�
�����


� �	��

�
�� �� ����&�
 ��,
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� �� �������	���
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�� &
��
6�� ��� �� 
�6�'��0���
�&=��� 	� �� �������
�&=���

Mrgff · crg ·
(
Ṫ ff + ˙̂

T ff

)
= htp ·

(
Kflow · (mluft + m̂luft) + Kstr ·

(
M tp + M̂tp

)
+(1 − Km) · (mtp + m̂tp))

+cluft · Tomg · (mluft + m̂luft)

−crg · (mluft + m̂luft + 0, 85 · (mtp + m̂tp)) ·
(
T ff + T̂ff

)
−Aff · Kff · (mluft + m̂luft + 0, 85 · (mtp + m̂tp))

0,8

·
(
T ff + T̂ff −

(
T frem + T̂frem

))
. 9%,/:

(����
�� ����
������� �� �����=�� ��� ��� �, 	����� �
��	� 
00�	����

�	��� ��
�� 0�����00�

6�����&�
 � 4	���� %,�� ��� �7������ &
��
6�� � ��������� mluft� mtp� Mtp� Tff 	� Tfrem, #B�����

� 
�6�'��0���
�&=����� �=

�� 
�� �,

Mrgff · crg · ˙̂
T ff ≈ htp ·

(
Kflow · mluft + Kstr · M tp + Km · mtp

)
+cluft · Tomg · mluft

−crg · (mluft + 0, 85 · mtp) · T ff

−Aff · Kff · (mluft + 0, 85 · mtp)
0,8 · (T ff − T frem

)
+

[
htp · Kflow + cluft · Tomg − crg · T ff

−0, 8 · Aff · Kff

(
T ff − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
·m̂luft

+
[
htp · (1 − Km) − 0, 85 · crg · T ff

−0, 8 · 0, 85 · Aff · Kff · (T ff − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
· m̂tp

+ [htp · Kstr] · M̂tp

+
[
−crg · (mluft + 0, 85 · mtp) − Aff · Kff · (mluft + 0, 85 · mtp)

0,8
]
· T̂ff

+
[
Aff · Kff · (mluft + 0, 85 · mtp)

0,8
]
· T̂frem . 9%,):

%�



% >���
�������� 
� ���������

!�"�' #���� 
 $ 
	�� � 
	��	�� 	 ��%�	���
� ��	��

+�� �


�	�=�� ��������� ��

�=���� ��� ��
	0 �����	��� ��������  &����
 ��&��

Mrgff · crg · ˙̂
T ff ≈ [

htp · Kflow + cluft · Tomg − crg · T ff

−0, 8 · Aff · Kff

(
T ff − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
·m̂luft

+
[
htp · (1 − Km) − 0, 85 · crg · T ff

−0, 68 · Aff · Kff · (T ff − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
· m̂tp

+ [htp · Kstr] · M̂tp

+
[
−crg · (mluft + 0, 85 · mtp) − Aff · Kff · (mluft + 0, 85 · mtp)

0,8
]
· T̂ff

+
[
Aff · Kff · (mluft + 0, 85 · mtp)

0,8
]
· T̂frem . 9%,��:

+�

� �� ��� ����=�� ������� � �������
�&=����� ��� ��
� 
�&����� 
�� 	0�
������ 
� �


� �0
��
�	���,

(����� $ ��������� ���

>���
���������� 
� ������6
�
���� �	� ��� ���
���
� ��� 
� ��������
� �
&�� �� ��
 4	���� �,��

Mrgfm · crg · Ṫfm = crg · mrg · Tff

−crg · mrg · Tfm

−Afm · αfm · (Tfm − Tfrem) . 9%,��:

!�"�( #���� � $ ����	�� � 
	��	��

E�� �


�	�=� 
���

�� �� ��� ����� =������ 
� 
��0��

�����  &	�&�� ��� �


�	�=�� �������
6��&��

0 = crg · (mluft + 0, 85 · mtp) · T ff

−crg · (mluft + 0, 85 · mtp) · T fm

−Afm · Kfm · (mluft + 0, 85 · mtp)
0,8 · (T fm − T frem

)
, 9%,��:

��� ��� 
�&����� �	


�	��� �	� 
�6�'��0���
�&=����� ��� �� �
��� 	&��	&��� 	� ����������� 
�
�
�����


� �	��

�
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 ��,
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�� &
��
6�� ��� �� 
�6�'��0���
�&=��� 	� �� �������
�&=���

Mrgfm · crg ·
(
Ṫ fm + ˙̂

T fm

)
= crg · (mluft + m̂luft + 0, 85 · (mtp + m̂tp)) ·

(
T ff + T̂ff

)
−crg · (mluft + m̂luft + 0, 85 · (mtp + m̂tp)) ·

(
T fm + T̂fm

)
−Afm · Kfm · (mluft + m̂luft + 0, 85 · (mtp + m̂tp))

0,8

·
(
T fm + T̂fm −

(
T frem + T̂frem

))
. 9%,��:

(����
�� ����
������� �� �����=�� ��� ��� �, 	����� �
��	� 
00�	����

�	��� ��
�� 0�����00�

6�����&�
 � 4	���� %,�� ��� �7������ &
��
6�� � ��������� mluft� mtp� Tff � Tfm 	� Tfrem, #B�����

� 
�6�'��0���
�&=����� �=

�� 
�� �,

Mrgfm ·crg · ˙̂
T fm ≈ crg · (mluft + 0, 85 · mtp) · T ff

−crg · (mluft + 0, 85 · mtp) · T fm

−Afm · Kfm · (mluft + 0, 85 · mtp)
0,8 · (T fm − T frem

)
+

[
crg ·T ff −crg ·T fm − 0, 8 · Afm · Kfm · (T fm − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
·m̂luft

+

[
0, 85·crg ·T ff −0, 85·crg ·T fm− 0, 8·0, 85·Afm ·Kfm ·(T fm−T frem

)
(mluft + 0, 85 · mtp)

0,2

]
·m̂tp

+[crg · (mluft + 0, 85 · mtp)] · T̂ff

+
[
−crg · (mluft + 0, 85 · mtp) − Afm · Kfm · (mluft + 0, 85 · mtp)

0,8
]
· T̂fm

+
[
Afm · Kfm · (mluft + 0, 85 · mtp)

0,8
]
· T̂frem . 9%,�C:

!�"�* #���� 
 $ 
	�� � 
	��	�� 	 ��%�	���
� ��	��

+�� �


�	�=�� ������� ��

�=���� ��� ��
	0 �����	��� ��������  &����
 ��&��

Mrgfm ·crg · ˙̂
T fm ≈

[
crg ·

(
T ff −T fm

) − 0, 8 · Afm · Kfm

(
T fm − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
·m̂luft

+

[
0, 85 · crg ·

(
T ff − T fm

) − 0, 68 · Afm · Kfm

(
T fm − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
· m̂tp

+ [crg · (mluft + 0, 85 · mtp)] · T̂ff

+
[
−crg · (mluft + 0, 85 · mtp) − Afm · Kfm · (mluft + 0, 85 · mtp)0,8

]
· T̂fm

+
[
Afm · Kfm · (mluft + 0, 85 · mtp)

0,8
]
· T̂frem . 9%,�.:

+�

� �� ��� ����=�� ������� � �������
�&=����� ��� ��
� 
�&����� 
�� 	0�
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>���
���������� 
� ������6
�
���� �	� ��� 6
����
� ��� 
� ��������
� �
&�� �� ��
 4	���� �,�C

Mrgfb · crg · Ṫrg = crg · mrg · Tfm

−crg · mrg · Trg

−Afb · αfb · (Trg − Tfrem) 9%,�*:

!�"��" #���� � $ ����	�� � 
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E�� �


�	�=� 
���

�� �� ��� ����� =������ 
� 
��0��

�����  &	�&�� ��� �


�	�=�� �������
6��&��

0 = crg · (mluft + 0, 85 · mtp) · T fm

−crg · (mluft + 0, 85 · mtp) · T rg

−Afb · Kfb · (mluft + 0, 85 · mtp)
0,8 · (T rg − T frem

)
, 9%,��:

��� ��� 
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��
6�� ��� �� 
�6�'��0���
�&=��� 	� �� �������
�&=���

Mrgfb · crg ·
(
Ṫ fb + ˙̂

T fb

)
= crg · (mluft + m̂luft + 0, 85 · (mtp + m̂tp)) ·

(
T fm + T̂fm

)
−crg · (mluft + m̂luft + 0, 85 · (mtp + m̂tp)) ·

(
T rg + T̂rg

)
−Afb · Kfb · (mluft + m̂luft + 0, 85 · (mtp + m̂tp))

0,8

·
(
T rg + T̂rg −

(
T frem + T̂frem

))
. 9%,�/:

(����
�� ����
������� �� �����=�� ��� ��� �, 	����� �
��	� 
00�	����

�	��� ��
�� 0�����00�

6�����&�
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��
6�� � ��������� mluft� mtp� Tfm� Trg 	� Tfrem, #B�����
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� 
�6�'��0���
�&=����� �=

�� 
�� �,

Mrgfb ·crg · ˙̂
T rg ≈ crg · (mluft + 0, 85 · mtp) · T fm

−crg · (mluft + 0, 85 · mtp) · T rg

−Afb · Kfb · (mluft + 0, 85 · mtp)
0,8 · (T rg − T frem

)
+

[
crg ·T fm−crg ·T rg −

0, 8 · Afb · Kfb

(
T rg − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
·m̂luft

+

[
0, 85·crg ·T fm − 0, 85·crg ·T rg −

0, 8·0, 85·Afb · Kfb ·
(
T rg−T frem

)
(mluft + 0, 85 · mtp)

0,2

]
· m̂tp

+ [crg · (mluft + 0, 85 · mtp)] · T̂fm

+
[
−crg · (mluft + 0, 85 · mtp) − Afb · Kfb · (mluft + 0, 85 · mtp)

0,8
]
· T̂rg

+
[
Afb · Kfb · (mluft + 0, 85 · mtp)

0,8
]
· T̂frem . 9%,�):
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	0 �����	��� ��������  &����
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Mrgfb ·crg · ˙̂
T rg ≈

[
crg ·

(
T fm − T rg

) − 0, 8 · Afb · Kfb

(
T rg − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
·m̂luft

+

[
0, 85 · crg ·

(
T fm − T rg

) − 0, 68 · Afb · Kfb

(
T fm − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
· m̂tp

+ [crg · (mluft + 0, 85 · mtp)] · T̂fm

+
[
−crg · (mluft + 0, 85 · mtp) − Afb · Kfb · (mluft + 0, 85 · mtp)

0,8
]
· T̂rg

+
[
Afb · Kfb · (mluft + 0, 85 · mtp)

0,8
]
· T̂frem . 9%,��:
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&�� �� ��
 4	���� �,��

Mvand · cvand · Ṫfrem = mvand · cvand · Tretur

+Aff · αff · (Tff − Tfrem)
+Afm · αfm · (Tfm − Tfrem)
+Afb · αfb · (Trg − Tfrem)
−mvand · cvand · Tfrem . 9%,��:
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0 = mvand · cvand · T retur

+Aff · Kfb · (mluft + 0, 85 · mtp)0,8 · (T ff − T frem

)
+Afm · Kfb · (mluft + 0, 85 · mtp)

0,8 · (T fm − T frem

)
+Afb · Kfb · (mluft + 0, 85 · mtp)

0,8 · (T rg − T frem

)
−mvand · cvand · T frem , 9%,��:
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Mvand · cvand ·
(
Ṫ frem + ˙̂

T frem

)
= mvand · cvand ·

(
T retur + T̂retur

)
+Aff · Kff · (mluft + m̂luft + 0, 85 · (mtp + m̂tp))

0,8

·
(
T ff + T̂ff −

(
T frem + T̂frem

))
+Afm · Kfm · (mluft + m̂luft + 0, 85 · (mtp + m̂tp))

0,8

·
(
T fm + T̂fm −

(
T frem + T̂frem

))
+Afb · Kfb · (mluft + m̂luft + 0, 85 · (mtp + m̂tp))

0,8

·
(
T rg + T̂rg −

(
T frem + T̂frem

))
−mvand · cvand ·

(
T frem + T̂frem

)
, 9%,��:
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Mvand · cvand · ˙̂
T frem ≈ mvand · cvand · T retur

+Aff · Kfb · (mluft + 0, 85 · mtp)
0,8 · (T ff − T frem

)
+Afm · Kfb · (mluft + 0, 85 · mtp)

0,8 · (T fm − T frem

)
+Afb · Kfb · (mluft + 0, 85 · mtp)0,8 · (T rg − T frem

)
−mvand · cvand · T frem

+ [mvand · cvand] · T̂retur

+

[
0, 8 · Aff · Kff

(
T ff − T frem

)
(mluft + 0, 85 · mtp)

0,2

+
0, 8 · Afm · Kfm

(
T fm − T frem

)
(mluft + 0, 85 · mtp)

0,2

+
0, 8 · Afb · Kfb

(
T rg − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
· m̂luft

+

[
0, 8 · 0, 85 · Aff · Kff

(
T ff − T frem

)
(mluft + 0, 85 · mtp)

0,2

+
0, 8 · 0, 85 · Afm · Kfm

(
T fm − T frem

)
(mluft + 0, 85 · mtp)

0,2

+
0, 8 · 0, 85 · Afb · Kfb

(
T rg − T frem

)
(mluft + 0, 85 · mtp)

0,2

]
· m̂tp

+
[
Aff · Kff · (mluft + 0, 85 · mtp)0,8

]
· T̂ff

+
[
Afm · Kfm · (mluft + 0, 85 · mtp)

0,8
]
· T̂fm

+
[
Afb · Kfb · (mluft + 0, 85 · mtp)

0,8
]
· T̂rg

+
[
−Aff · Kff · (mluft + 0, 85 · mtp)

0,8

− Afm · Kfm · (mluft + 0, 85 · mtp)
0,8

− Afb · Kfb · (mluft + 0, 85 · mtp)0,8
]
· T̂frem

+ [−mvand · cvand] · T̂frem . 9%,�C:
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Mvand ·cvand · ˙̂
T frem ≈ [mvand · cvand] · T̂frem

+

[
0, 8

(mluft + 0, 85 · mtp)
0,2 · (Aff · Kff · (T ff − T frem

)
+Afm · Kfm · (T fm − T frem

)
+ Afb · Kfb ·

(
T rg − T frem

))] · m̂luft

+

[
0, 68

(mluft + 0, 85 · mtp)
0,2 · (Aff · Kff · (T ff − T frem

)
+Afm · Kfm · (T fm − T frem

)
+ Afb · Kfb ·

(
T rg − T frem

))] · m̂tp

+
[
Aff · Kff · (mluft + 0, 85 · mtp)

0,8
]
· T̂ff

+
[
Afm · Kfm · (mluft + 0, 85 · mtp)

0,8
]
· T̂fm

+
[
Afb · Kfb · (mluft + 0, 85 · mtp)

0,8
]
· T̂rg

+
[
(−Aff ·Kff − Afm ·Kfm − Afb ·Kfb)·(mluft + 0, 85 · mtp)

0,8

−mvand · cvand]·T̂frem . 9%,�.:
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λ̇rg =
0, 21 · KV →M

Mrgf
· mluft − (1 − Km) · Kprop

Mrgf
· mtp

−Kprop · Kflow

Mrgf
· mluft − Kprop · Kstr

Mrgf
· Mtp

− mrg

Mrgf
· λrg , 9%,�*:
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0 =
0, 21 · KV →M

Mrgf
· mluft − Kprop · (1 − Km)

Mrgf
· mtp

Kprop · Kflow

Mrgf
· mluft − Kprop · Kstr

Mrgf
· M tp

−mluft + 0, 85 · mtp

Mrgf
· λrg , 9%,��:
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λ̇rg + ˙̂
λrg =

0, 21 · KV →M

Mrgf
· (mluft + m̂luft) − Kprop · (1 − Km)

Mrgf
· (mtp + m̂tp)

−Kprop · Kflow

Mrgf
· (mluft + m̂luft) − Kprop · Kstr

Mrgf
·
(
M tp + M̂tp

)
−mluft + m̂luft + 0, 85 · (mtp + m̂tp)

Mrgf
·
(
λrg + λ̂rg

)
. 9%,�/:
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˙̂
λrg ≈ 0, 21 · KV →M

Mrgf
· mluft − Kprop · (1 − Km)

Mrgf
· mtp

−Kprop · Kflow

Mrgf
· mluft − Kprop · Kstr

Mrgf
· M tp

−mluft + 0, 85 · mtp

Mrgf
· λrg

+
[
0, 21 · KV →M

Mrgf
− Kprop · Kflow

Mrgf
− λrg

Mrgf

]
· m̂luft

+
[
−Kprop · (1 − Km)

Mrgf
− 0, 85 · λrg

Mrgf

]
· m̂tp

+
[
−Kprop · Kstr

Mrgf

]
· M̂tp

+
[
−mluft + 0, 85 · mtp

Mrgf

]
· λ̂rg . 9%,�):
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˙̂
λrg ≈

[
0, 21 · KV →M − Kprop · Kflow − λrg

Mrgf

]
· m̂luft

+
[
−Kprop · (1 − Km) − 0, 85 · λrg

Mrgf

]
· m̂tp

+
[
−Kprop · Kstr

Mrgf

]
· M̂tp

+
[
−mluft + 0, 85 · mtp

Mrgf

]
· λ̂rg . 9%,��:
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